Haus A Grundriss EG

Mst. 1:100
0 1 2 3 4 5m
=
Treppenhaus
BF: 3.8 m?
11.3/R7 Llft
g‘% ( @BadIWC
Kiiche — = INITSTEL L BF: 7.9 m?
BF: 12.9 m? - ARSI 7 .
FF: 4.4 m? taae U & immer
O D BF: 14.0 m?
— FF: 4.0 m?
/WC
BF:\4.1 m?
Gedeckter Bereich Entrée
T T |7 I || = BF: 9.1 m?
I = =l
| | — : .
Wohnen Essen Zimmer 3 Zimmer 2
| BF: 49.4 m? BF: 16.9 m? BF: 16.8 m2
FF:21.5m? FF: 4.3 m? FF: 4.3 m?
| I
| j
[ Sonnenstoren N~ o\~ e PN P2
oAt
| | | |
Sitzplatz | I |
BF: 91.5 m? . | i
| | | | |
[ _ _Geﬂ:kteﬁereﬂ ] '_ _ Ge_deckte_rBer@ ]
Griinflache
115.7 m?
« v
NW
. =1




